FTh A Bz B IR AR
Wuxi Driveshafts Co., Ltd.



I uction
fb\ﬂlt'l[ﬁoj to Company,

BT mBHBAERDAE ( XKBAM ) Bz F19874, TlME+FHE
FTRMESESREXBEMBENAEL, £75=, HEMRS., ETLERKSBTISO
9001 /REM R INIE, LHAEEZEEH, GHEFR25,000m2, BE R ITIL200A,

NEIFREFEI0,000RE, EEANMHATMEMA, FHiZHF20% E R
X,

Founded in 1987, Wuxi Driveshafts Co. Ltd (WDC) is an ISO 9001 certified
company that has been specializing in R & D, production, sales and service of
universal joint shafts and gear couplings. WDC has a well-equipped facility
covering an area of 25,000 m2, combined with a dedicated workforce of about 200
employees.

With the annual output of over 10000 shaft assemblies, WDC commands a leading
market share in China and has customers in over 20 different countries and regions
worldwide.

1RG5, 1RE LGS, 15E R ESEL
The quality you expect. ke services you | deserve. /e solutions you uneed.

Il v T B

jf*' (AT Tl e

T ey B
0] ) -
o e

. Y -4
vl

7.8 h A EX e H PR




B 1

E 3
=, meRFNREASE 7

I, GllCLESmERSMSE 7

o, EMEBBBORMRE S 17
T 18
S 20
X, BREMEEBENG 22

Table of Contents

IIpECEHETE———— . . . . . . . . . . . oSS . . 1
Il. Words From the Designer - - - -~ . 8
lll. Product Series and Specifications- - - - - - - - - - - - - 7

1. G Il CLSeries Gear Couplings- - - - - - - - - - - - - - - 7

2. Other Variations of Gear Couplings - - - - - - - - - - - 17
IV. Selection of Gear Couplings- - -~~~ -~ 18
V. Installation and maintenance- - - - -~ - -~ - - - - - -~ 20

VI. Sales and Service Offices - - - - - - - - - - - - - - - 22




il g

BIRIN: &% Mr. Yu Ming, Chief Engineer
SHRTREIE, (MME+HFM) s A Nationally recognized senior engineer

>—, ERNaEEIEATR, (Mgt Contributor to "Mechanical Design Manual’
BB 2. and "Mechanical Design Atlas"

B RRKESRE— MR ERERNERE NEMG. BEIMNTRNYT KX, BREE
KEHRTT, THNSRERKHFAREZRERES, B RS~ RN L RIEDHN
RN hREHRELENHNNE. ZERBESMERKMFNTORTRERAEE LEE NEEX
FRE'WMHERAEZE, "MRALRFAEFSREEKERRE CENASRAFANERNE, B
TiHHERBIRERE.

ATAZNERINFENHE, RASRIES SN, M005FRIT, EFHH. FRE
CIRE R, JLER, RO ITERNIMEXIENT, MHMESE. EWRit. T2Z275
% BEREMNREFARERBHET TRNARNREHAR, N HEFREIEHR. W, @
fi. K3, BEE. BkdETProtrac. RAFEPREENINEFWIKA, KBFTF. RAEERXEE
"R ST R B RR R T fh e HEORRFEA

—. BRI MIELEIBIRANINE R T R AR EVA T B X IMITIREEK;

—. ERsHgEELEMKL, ENREEE;

=. N, SMNEEMBERARREEW, BARLE;

N, EESIERNLIE, FEEEMEEXREERS;

F. EE, EREAEEEMI, MIAGERTE;

Ny RANEREREMIMERETEED, EORFELT;

+. WEREHEN., THEENER, RSN EXBRMERIEEXEENDBILR;

I\, WEEEZBAAIRMIfOMI, HE, CEEHERHFLEBRER;

fu. FhEEENARSI GRS, HEIMR A BINETEIIEE, (BEREEBEIIRGSE
BAETFZL;

+. FHEEENEREERME, U R EEEESRAGI6~G40ZiE, APEEREX,
YRR, (X EBRE3000kg, BR16.5m),




Gear couplings are transmission components that are extensively used on mechanical equipment. As
China becomes increasingly globalized the level of quality for mechanical equipments has been
raised to international standards, therefore the market demands higher quality gear couplings.

To satisfy the market needs, Wuxi Driveshafts has taken on a research project in 2005 to develop
crown tooth gear couplings. Over the years, we have analyzed both domestic and foreign industrial
standards and have completed extensive research and testing in areas of mechanical properties,
structural designs, manufacturing methods and equipments, as well as production organization. Our
gear coupling products in prototype production have been trial used and approved by domestic and
foreign customers. We now launch the BC Crown Tooth Gear Couplings that have the following
features:

1. Conformity to the national industrial standards of the country in product properties and external
connections.

. Enhanced technical specifications through overall optimization in design.

. The use of fine alloy steel for sleeves and hubs, quenching and tempering treated.

. Enhanced strength of tooth surface through nitriding treatment.

. Precision machining with CNC equipment with perfect tooth blanks and profiles.

. Perfect alignment through centering via dedendum circle of inner gear and addedendum circle of

D o~ W N

outside gear.
7. Special design of sealing system and components, which serves to greatly enhance the lubrication
effect, a critical element for gear couplings.
8. Bolt holes of Sleeve flanges are machined with precision that can satisfy the requirement of reamed
bolt holes.
9. Automatic sub-arc welding for gear spindles with floating shafts achieving Grade Il or better weld
strength on ultrasonic flaw detection.
10. All gear couplings with floating shafts leave the company with a balancing accuracy range of
Grade G16 ~ G40. If higher balancing grade is required, please submit your request. (Units to be
balanced are limited to 3000kg in weight and 6500mm in length).




|
B XA T mEhE AIEIUET
Submerged arc welding and gas
shielded welding machines

R E NI AIME
Tooth profiling by CNC machine

AR HI R AR
Nitriding




B A

Chemical analysis

D EREE]

Balancing test

Manufacturing & Testing
Ay Rkl o Equipment

S
PSR T

Metallograph analysis

L SE A HSA

Tensile test

HBE KRG
u.T.




Products Series P m& 5 kA S

Engineering Data

Gll CLEIS s ik

AZ (iERAFGIICL1~CL13)

Ji. YEVE G Ji. YEVEL
| B
| ——
i %ﬁt +ﬁ
A
c - ¢
O w wl A a
§ (!
Y § (=
Y B A
‘ B

B&! (&R FGI CL14~CL25)
Ji. YEUHE] G Ji. YEUEHE

Shiee
1

J

N
ES
——t

| Nim

C
o wl uwl A

D

T O H>%QT@ |




F1 Gl CLEAEARSHIMEER:

LK
m o |SHER\WARE 47 HE y P o lelelalal | g P =
Tn (] D1. D2 A& | kg
(kN.m) | (rpm) c mi
mm

G CL1 0.4 4000 16 ~ 35 42 ~ 82 38 ~60 103 71 50 36 8 76 38 51 5.1
G CL2 0.71 4000 20~ 45 52~112 44 ~ 84 115 83 60 42 8 88 42 70 6.7
G CL3 112 4000 22 ~ 56 52~112 44 ~ 84 127 95 75 44 8 90 42 68 9.6
G CL4 1.8 4000 38 ~ 65 82~ 142 60~ 107 149 | 116 90 49 8 98 42 87 17.4
G CL5 3.15 4000 40~75 112~142 84~107 167 134 | 105 58] 10 108 42 125 | 26.6
G CL6 5 4000 45~90 | 112~172 | 84 ~132 187 | 163 | 125 56 10 110 42 148 | 38.7
G CL7 71 3750 50~100 | 112~212 | 84 ~167 204 | 170 | 140 60 10 118 42 175 | 58.2
G CL8 10 3300 55~110 | 112~212 | 84 ~167 230 | 186 | 155 67 12 142 47 268 | 73.6
G CL9 16 3000 60~130 | 142~252 | 107 ~202 | 256 | 212 | 180 69 12 146 47 310 | 117
GnCL10| 22.4 2650 65~150 | 142~252 | 107 ~202 | 287 | 239 | 200 78 14 164 47 472 | 144
G CL11 5.5 2350 70~170 | 142~302 | 107 ~242 | 325 | 276 | 235 81 14 170 47 550 | 300
GucCL12 50 2100 75~200 | 142~352 | 107~282 | 362 | 313 | 270 89 16 190 49 695 | 348
GnCL13 71 1850 150 ~220| 252 ~352 | 202~282 | 412 | 350 | 300 98 18 208 49 1019 | 440
GuCL14 112 1650 170~250| 302~410 | 242~330 | 462 | 418 | 335 | 172 22 296 63 3900 | 682
G CL15 180 1500 190~280| 352~470 | 282~380 | 512 | 465 | 380 | 182 22 316 63 3700 | 977
G CL16 250 1300 220~320| 352~470 | 282~380 | 580 | 522 | 430 | 209 28 354 67 | 4500 | 1828
GuCL17 858 1200 250~360| 410~550 | 330~450 | 644 | 582 | 490 | 198 28 364 67 | 4900 | 2676
G CL18 500 1050 280~400| 470~650 | 380~540 | 726 | 654 | 540 | 222 28 430 75 7000 | 3560
Gn CL19 710 950 300~460| 470~650 | 380~540 | 818 | 748 | 630 | 232 32 440 75 8900 | 4975
GuCL20| 1000 800 360 ~530| 550~800 | 450~680 | 928 | 832 | 720 | 247 32 470 75 (11000 7159
G CL21 1400 750 400 ~600| 650~800 | 540~680 | 1022 | 924 | 810 | 255 40 490 75 [13000| 8448
GuCL22| 1800 650 450 ~670| 650~900 | 540~780 | 1134 | 1028 | 915 | 262 40 510 75 | 16000( 13401
GnCL23| 2500 600 530~750| 800~900 | 680~780 | 1282 | 1174 | 1030 | 299 50 580 80 |28000(13401
GnCL24| 3550 550 560 ~ 850|800 ~ 1000| 680 ~880 | 1428 | 1320 | 1175 | 317 50 610 80 |33000[18835
GuCL25| 4500 460 670 ~ 1000[900 ~ 1000| 780~ 1100 | 1644 | 1538 | 1390 | 325 50 620 80 [43000|27797

1 EEREROHNESR,
T2 BEREEIRIEXIRE AMALR TS,




Products Series P m& 5 kA S

Engineering Data

G CLDEI S5
Ji. YEIHZ 2B g G . NINREE
I == B,
| ! {——l— T =t—}
I — | ‘ %
| = _lH
S A At S
& ¢ ¢
1
! § g
v E [




F1 GCLDEEASHIMFERT:

ol WILRE R |
U= Bl i e Y | 1 |D|E|F|A|A|G|GI| H| B |%E | RE kE
Tn [n] D1, D2 kgme| mi g
(kN.m) | (rpm)
mm
22,24 52 38 0.041| 7.2
GCLD1| 1.12 4000 e 62 4 127 | 95 | 75 | 27 | 6 | 66 | 45 | 2 | 42 | 107 0.041) 7.2
30,32,35,38 82 60 0.044| 7.8
40,42,45,48,50,55,56 | 112 84 0.047| 9.6
38 82 60 0.085| 11.2
GCLD2 1.8 4000 40,42,45,48,50,55,56 | 112 84 149 | 116 | 90 |295| 6.5 | 70 49 2 42 | 137 |0.097| 14
60,65,63 142 107 0.106| 16.4
T 315 4000 40,42,45,48,50,55,56 | 112 84 167 | 134 | 105 | 35 7 80 54 | 25 | a2 | 201 0.16 | 17.2
60,70,75,63,71 142 107 0.19| 224
45,48,50,55,56 112 84 0.29|25.2
GCLD4 5 4000 60,70,75,63,71 142 107 | 187 | 1563 | 125 | 33.5| 7.5 | 81 55 | 25 | 42 | 238 |0.33|26.4
80,85,90 172 132 0.38 | 35.6
50,55,56 112 84 0.45|31.6
GCLD5| 7.1 3750 B 142 1 107 204 | 170 | 140 [385| 75 | 89 | 59 | 25 | 42 | 298 0.51) 38
80,85,90,95 172 132 0.58 | 44.6
100 212 167 0.67 | 53.9
515,518}, 112 84 0.75 | 40.5
GCLD6 10 3300 60.65,70.75,63.71 142 1 107 230 | 186 | 155 [43.5| 8.5 | 106 | 71 3 | 47 | 465 0841498
80,85,90,95 172 132 0.94 | 56.3
100,110 212 167 1.07 | 67.5
60,63,65,70,71,75 142 107 1.43]63.9
GCLD? 16 3000 80.85.90.95 172 1132 | oo | 012 | 180 | 48 | 9 |112| 73 | 3 | a7 | 561 | 0| 747
100,110,120 212 167 1.85| 88
130 252 202 2.11 |106.7
65,70,71,75 142 107 2.24 | 81.7
coLps| 224 2650 S 72 ) 132 287 | 239 | 200 [425| 85 | 112 | 82 | 3.5 | 47 | 734 2511955
100,110,120 212 167 2.88 | 114
130,140,150 252 202 3..25| 123
70,71,75 142 107 431 | 112
80,85,90,95 172 132 4.83 | 130
GCLD9 3.5 2350 100,110,120 212 167 | 325|276 | 235|515 95 | 125 | 85 | 3.5 | 47 | 956 | 5.53 | 156
130,140,150 252 202 6.24 | 181
160,170 302 242 7.08 | 212
75 142 107 7.88 | 161
80,85,90,95 172 132 829 | 172
GCcLD10| 50 2100 100,110,120 212 | 67 362 | 313|270 | 65 | 11 | 149 | 95 | 4 | 49 | 132 9.52 | 206
130,140,150 252 202 10.25| 239
160,170,180 302 242 12.22| 280
190,200 352 282 13.69| 319

1 EHRESEERAEHMMEN,
2. BHRMEHIEENIRT,




Products Series P m& 5 kA S

Engineering Data

Gll CLZEI S5

AZ! (EHFGICLZI ~GIICLZ13)

Ji. YEUHHE] Ji. YEUEHEL
-— G —
= — B |«
: 0 —
%,7
i Ae ﬂ
A
c = c
i (|
i & Y
\ . =
1 B
e L —

BE (iEHTFGIICLZ14~GIICLZ25)

Ji. YBUEHE| Ji. YBRUEHT|

] el
I N

C

A

y
@1
N

D
F
D]

[ 1
ik
@)

D2

D3

E

g O

T TN 0N aTMn an




F1 Gl CLZRAEARSHMEER:

~

HFLKE L
U LR WRIGR | g B Y J D D3| F|G|A|L| E|B FRR m
Tn [n] D1, D2 HE& | kg
(kN.m) | (pm) c mi
mm

G CLZA 0.4 4000 16 ~ 35 42 ~112 38~84 103 | 50 71 8 8 38 71 38 31 7
Giclze| 0.71 4000 | 20~45 | 52~142 | 44~107 | 115| 60 | 83 | 8 | 8 | 44 | 83 | 42 | 42 | 7
GICLZ3| 112 | 4000 | 22~56 | 52~142 | 44~107 |127| 75 | 95 | 8 | 8 | 45 | 95 | 42 | 42 | 11
Giclz4| 18 4000 | 38~65 | 82~172 | 60~132 | 149| 90 |116| 8 | 8 | 49 | 116| 42 | 53 | 18
GuClLz5| 3.15 4000 40~75 112~172 84~132 167 | 105 | 134 | 10 10 54 | 134 | 42 77 24
Giclze| 5 4000 | 45~90 |112~212| 84~167 | 187 | 125|153 | 10 | 10 | 55 [ 153 | 42 | 91 | 39
Gn CLz7 71 3750 50~100 | 112~212 | 84~167 | 204 | 140 | 170 | 10 10 59 | 170 | 42 108 58
Giclzs| 10 3300 | 55~110 | 112~212| 84~167 | 230|155 | 186 | 12 | 12 | 71 | 186 | 47 | 161 | 74
Giclzo| 16 3000 | 60~130 | 142~252 | 107~202 | 256 | 180 | 212 | 12 | 12 | 73 | 212 | 47 | 184 | 116
GICLZ10| 224 | 2650 | 65~150 | 142~252 | 107~202 | 287 | 200 | 239 | 14 | 14 | 82 | 239| 47 | 276 | 144
G ClLz11] 355 2350 110~170| 212~302 | 167 ~242 | 325 | 235 | 250 | 14 14 85 | 276 | 47 | 322 | 230
GiCLz12 50 2100 | 130~200| 252 ~352 | 202~282 | 362 | 270 | 286 | 16 | 16 | 95 | 313 | 49 | 404 | 348
GicClLz1g 71 1850 | 150~220| 252~352 | 202~282 | 412 | 300 | 322 | 18 | 18 | 104 | 350 | 49 | 585 | 438
GiCLz14 112 1650 | 170~250|302~410 | 242~330 | 462 | — | 420 | 22 | 22 | 148 | 335 | 63 |1600| 655
GiCLz15 180 1500 | 190~280|352~470 | 282~380 | 512 | — | 465 | 22 | 22 | 158 | 380 | 63 |2100| 946
GiCLz16 250 1300 | 220~320|352~470 | 282~380 | 580 | — | 522 | 28 | 28 | 177 | 430 | 67 |2500 | 1232
GiCLZ17| 355 1200 | 250~360| 410~550 | 330~450 | 644 | — | 582 | 28 | 28 | 182 | 490 | 67 |2700 | 1828
GiClLz1g 500 1050 | 280~400| 470~650 | 380~540 | 726 | — | 658 | 28 | 28 | 215 | 540 | 75 | 3900|2674
GicLzi9 710 950 | 300~460|470~650 | 380~540 | 818 | — | 748 | 32 | 32 | 220 | 630 | 75 |5000 |3565
GiCLz20| 1000 800 | 360~530|550~800 | 450~680 | 928 | — |838 | 32 | 32 | 235|720 | 75 |6200|5198
G CLz21| 1400 750 400 ~600| 650~800 | 540~680 |1022| — | 928 | 40 40 | 245 | 810 | 75 [7000| 7124
GiCLz22| 1800 650 | 450~670| 650 ~900 | 540~780 [1134| — [1036| 40 | 40 | 255 | 915 | 75 |8700 8978
G CLZ23| 2500 600 | 530~750|800~900 | 680~780 [1282| — [1178| 50 | 50 | 290 |1030| 80 |15000(13124
GiCLz24) 3550 550 | 560~ 850|800 ~1000| 680~880 |1428| — [1322| 50 | 50 | 305 |1175| 80 |18000|18659
GiCLZ25| 4500 460 | 670~ 1000900 ~ 1000| 780~ 1100 [1644| — [1538| 50 | 50 | 310 |1390| 80 [23000[27797

1 EEREROHNESR,
T2 BEREEIRIEXIRE AMALR TS,




Products Series P m& 5 kA S

Engineering Data

D+

GSL-Z8Y IF 3 5] iE 3 st 72 ik BX il =

D4

D3

L1

L2

P\

L3

L min

D2

L4

\ bmax [

ds




\

GSL-ZAFERBAB R EEMFNERSHMEEZRS
N | WL |HEE SMER~T mm FLARHECER T mm
B2 |HETnifAR| S oo e brmax
(kN.m) | ¢ ) | mm |Lmin| D1 D3 (D4 | D5 | L1 | L2 | L3 | L4 | L5 %R #RFR|AFR| #RER | 11 | 12 |Cx30°
h8 R~| f# |R~F| Rz
GSL-7200 | 315 710 | 200 | 200 | 170 | 81 | 200 | 90 | 250 | 50 | 80 | 190 [125 95 135[175| 10
GSL-7250 | 50 500 | 780 | 250 | 258 | 220 | 100 | 250 | 105 [ 280 | 60 | 90 | 195 |150[+0.20| 110|+0.20 |195|235
GSL-7285 | 80 850 | 285 | 270 | 245 | 115 | 270 | 115 | 315 | 60 | 105 | 205 | 165[+0.10| 120|+0.10 [205| 245
GSL-Z300 | 100 855 | 300 | 280 | 250 | 125 | 280 | 115 | 315 | 62 | 108 | 205 |180 130 210(250| 15
GSL-7335 | 140 975 | 335 | 330 | 280 | 135 | 300 | 130 | 360 | 65 | 135 | 235 | 195 +0.25| 150|+0.25 [210|255
GSL-7355 | 180 1005 | 355 | 350 | 310 | 162 | 330 | 130 | 360 | 75 | 145 | 245 [195[+0.15 150(+0.15 |215[255
GSL-Z390 | 224 |<1.5°| 600 (1070|390 | 380 | 335 | 174 | 360 | 140 | 390 | 80 | 155 | 255 |220 170 230(275
GSL-7405 | 250 1070| 405 | 400 | 340 | 174 | 390 | 140 | 390 | 80 | 155 | 255 |240[+0.35| 180(+0.35 [240(285
GSL-7440 | 315 1140| 440 | 440 | 375 | 198 | 410 | 150 | 430 | 85 | 165 | 260 |260 [+0.20| 190|+0.20|250(295| 25
GSL-7475 | 400 1180 | 475 | 480 | 415 | 210 | 450 | 155 | 460 | 85 | 165 | 265 |280 210 272|317
GSL-7510 | 500 1280| 510 | 520 | 430 | 222 | 480 | 160 | 490 | 90 | 180 | 310 |300 230 300|355
GSL-7550 | 630 1300 550 | 550 | 470 | 246 | 510 | 160 | 510 | 95 | 180 | 310 |320 240 320(375| 30
GSL-7580 | 750 1315|580 | 560 | 485 | 258 | 525 | 165 | 515 | 98 | 185 | 320 |340 [+0.40| 260(+0.40 |325|388
GSL-7610 | 840 700 [1550| 610 | 610 | 520 | 270 | 580 | 225 | 580 | 105 | 210 | 360 |400 [+0.25| 300|+0.25 |420|470 a5
GSL-7660 | 1050 1690 | 660 | 660 | 540 | 282 | 630 | 245 | 640 | 115 | 230 | 390 |420 320 440|500
GSL-Z710 | 1300 1800| 710 | 710 | 580 | 296 | 680 | 265 | 680 | 125 | 250 | 410 |460 350 480|540|
GSL-Z760 | 1600 1920| 760 | 760 | 620 | 328 | 740 | 290 | 730 | 135 | 260 | 430 |500 380 530|590
WAL B EER S mm H#HR~ mm iﬁgﬁé RE kg
B35 — - —

(gé) (327) i g30) mxZ | s | 1|5 n-d4 x le (?85) Ds x I7 ls lo | Lmin |, (t)%(;xm Lmin | (j;%(;xm
GSL-Z200 | 155 | 130 | 110 | 4x36 | 35 | 85 | 120 | 6-M10x25 | 40 | M20x35 | 200 | 345 | 0.75 | 0.024 | 150 4.77
GSL-Z250 | 195 | 170 | 150 | 4x 46 | 35 | 90 | 125| 8-M10x25 | 45 | M20x35 | 270 | 425 | 162 | 0.050 | 207 6.8
GSL-7285 | 220 | 195 | 175 | 4x 46 | 40 | 95 | 130 | 10-M10x25 | 50 | M20x40 | 278 | 442 | 295 | 0.090 | 291 8.88
GSL-Z300 | 220 | 195 | 175 | 5x 42 | 45 [ 100|132 | 12-M12x30 | 50 | M24x45 | 292 | 487 | 362 | 0.110 | 322 9.48
GSL-Z335 | 245 | 220 | 200 | 5x 46 | 50 [ 100|150 | 12-M12x30 | 55 | M24x45 | 293 | 488 | 6.45 | 0.190 | 460 | 13.87
GSL-Z355 | 260 | 240 | 220 | 5x50 | 50 [ 100|150 | 12-M12x30 | 55 | M24x45 | 312 | 505 | 7.99 | 0.290 | 507 | 18.67
GSL-Z390 | 280 | 260 | 240 | 5x54 | 50 [ 100|150 | 12-M12x30 | 60 | M24x50 | 360 | 570 | 12.36 | 0.380 | 650 | 19.98
GSL-Z7405 | 305 | 280 | 260 | 5x58 | 50 [ 110|155 | 12-M12x30 | 60 | M24x50 | 390 | 580 | 16.09 | 0.480 | 785 23.2
GSL-7440 | 336 | 306 | 276 | 6x54 | 50 | 115|155 | 12-M16 x40 | 65 | M24x50 | 420 | 650 | 20.23 | 0.650 | 836 | 26.67
GSL-7475 | 365 | 330 | 300 | 6x58 | 50 [ 115|155 | 12-M16x40 | 70 | M36x70 | 460 | 684 | 29.11 | 0.840 | 1032 | 29.84
GSL-Z510 | 390 | 345 | 315 | 6x62 | 50 [ 130|170 | 12-M16x 40 | 80 | M36x70 | 500 | 770 | 49.78 | 1.200 | 1531 | 37.01
GSL-7550 | 400 | 370 | 320 | 6x64 | 50 [ 130|170 | 12-M16x 40 | 85 | M36x70 | 520 | 800 | 58.12 | 1.480 | 1537 | 39.15
GSL-7580 | 405 | 370 | 320 | 6x66 | 50 | 135|175 | 12-M16x40 | 90 | M42x80 | 540 | 850 | 74.39 | 1.730 | 1769 | 41.04
GSL-Z610 | 455 | 420 | 370 | 8 x54 | 50 [ 160|210 | 12-M20 x50 | 100 | M42x80 | 600 | 940 | 115.91 | 2.250 | 2492 | 48.34
GSL-Z660 | 485 | 440 | 400 | 8 x58 | 60 | 180|230 | 12-M20 x50 | 100 | M42x80 | 650 | 990 | 173.04 | 2.920 | 3178 | 53.65
GSL-Z710 | 530 | 475 | 430 |10x50| 60 | 190|240 | 12-M20 x50 | 110 | M42x80 | 700 | 1070 | 232.71 | 3.850 | 3693 | 61.18
GSL-Z760 | 570 | 515 | 470 |10x54 | 60 | 200|250 | 12-M20 x50 | 120 | M42x80 | 750 | 1150 | 331.54 | 5.150 | 4592 | 71.27

e

FE Lmin ABHSR A ITHIENRERKERY, SR
Fo: R REMEDRERZLMn(AESHER)ITERNEMNE,

73 BEES 2K A Lmin+(S-14),

T 2 B

BRERSURMHEEFREAPEERE, BB =Lmin,




Products Series y= &5 LA 25
Engineering Data

D+

GSL-F&! 32 B il s\ 5 i th BX S 2%

D4

N L0 ~—
c _—, 88888888 .
! \
5 N
AN
¥
13
[1
l4
l2
15
L1 L2 L3 Ls La
Lmin 20
A
|
x
© AKX
E [t e ==
o) ‘ e
|




GSL- FEI Sk RBR S GBS E RS HMEZ R

~

NIR | W (B SMER~T mm FLARmEBER T mm
me  HETHAB S - E—
(kN.m)| ¢ ) [ mm [Lmin| D1 D3 | D4 | D5 | D6 | L1 | L2 | L3 | L4 | L5 |2%R #&BR|2FR| 4&FR | 11 | 12 |Cx30°
hg R £ |R| =
GSL-F200 | 315 960 [ 200 | 200 [ 170 | 81 [ 200 | 81 | 90 | 250 | 50 | 80 | 190 [125 95 135175 10
GSL-F250 | 50 500 |1050( 250 | 258 | 220 | 100 | 250 | 100 | 105 | 280 | 60 | 90 | 195 |150[+0.20| 110|+0.20 |195|235
GSL-F285 | 80 1140| 285 | 270 | 245 | 115 | 270 | 115 | 115 | 315 | 60 | 105 | 205 |165[+0.10| 120|+0.10 |205|245
GSL-F300 | 100 1165|300 | 280 | 250 | 125 | 280 | 125 | 115 | 315 | 62 | 108 | 205 | 180 130 210[250| 15
GSL-F335 | 140 1315|335 | 330 | 280 | 135 | 300 | 135 | 130 | 360 | 65 | 135 | 235 | 195 [+0.25| 150|+0.25 (210|255
GSL-F355 | 180 1360| 355 | 350 | 310 | 162 | 330 | 162 | 130 | 360 | 75 | 145 | 245 |195[+0.15| 150|+0.15 (215|255
GSL-F390 | 224 |<1.5°| 600 (1450|390 | 380 | 335 | 174 | 360 | 174 | 140 | 390 | 80 | 155 | 255 |220 170 230(275
GSL-F405 | 250 1450| 405 | 400 | 340 | 174 | 390 | 174 | 140 | 390 | 80 | 155 | 255 |240|+0.35) 180|40.35(240|285|
GSL-F440 | 315 1540| 440 | 440 | 375 | 198 | 410 | 198 | 150 | 430 | 85 | 165 | 260 |260[+0.20| 190|+0.20 250|295
GSL-F475 | 400 1600| 475 | 480 | 415 | 210 | 450 | 210 | 155 | 460 | 85 | 165 | 265 |280 210 272|317
GSL-F510 | 500 1750{ 510 | 520 | 430 | 222 | 480 | 222 | 160 | 490 | 90 | 180 | 310 |300 230 300|355
GSL-F550 | 630 1770|550 | 550 | 470 | 246 | 510 | 246 | 160 | 510 | 95 | 180 | 310 320 240 320(375| 30
GSL-F580 | 750 1790| 580 | 560 | 485 | 258 | 525 | 258 | 165 | 515 | 98 | 185 | 320 |340|+0.40| 260|+0.40 |325|388
GSL-F610 | 840 700 12060| 610 | 610 | 520 | 270 | 580 | 270 | 225 | 580 | 105 | 210 | 360 |400|+0.25 300|+0.25[420|470|
GSL-Fe60 | 1050 2230 660 | 660 | 540 | 282 | 630 | 282 | 245 | 640 | 115 | 230 | 390 |420 320 440500
GSL-F710 | 1300 2380| 710 | 710 | 580 | 296 | 680 | 296 | 265 | 680 | 125 | 250 | 410 |460 350 480|540 |
GSL-F760 | 1600 2540| 760 | 760 | 620 | 328 | 740 | 328 | 290 | 730 | 135 | 260 | 430 |500 380 530(590
BEHLHBREER < mm H#R<+ mm %g'r;;% BE kg
B S — —
(gé) (327) (js‘f’O) mxZ | I3 | la | 15 | n-daxle (?85) Dé x 17 Is lo | Lmin 1(1;%(;Km Lmin 1f;xm
GSL-F200 | 155 | 130 | 110 | 4x36 | 35 | 85 [120| 6-M10x25 | 40 | M20x35 | 200 | 345 | 075 | 0.024 | 150 | 477
GSL-F250 | 195 | 170 | 150 | 4x 46 | 35 | 90 | 125| 8-M10x25 | 45 | M20x35 | 270 | 425 | 1.62 | 0050 | 207 | 6.8
GSL-F285 | 220 | 195 | 175 | 4x46 | 40 | 95 | 130| 10-M10x 25 | 50 | M20x40 | 278 | 442 | 295 | 0090 | 291 | 888
GSL-F300 | 220 | 195 | 175 | 5x42 | 45 | 100 |132| 12-M12x30 | 50 | M24x45 | 292 | 487 | 362 | 0110 | 322 | 948
GSL-F335 | 245 | 220 | 200 | 5x46 | 50 | 100|150 | 12-M12x30 | 55 | M24x45 | 293 | 488 | 645 | 0190 | 460 | 13.87
GSL-F355 | 260 | 240 | 220 | 5x50 | 50 | 100|150 | 12-M12x30 | 55 | M24x45 | 312 | 505 | 7.99 | 0290 | 507 | 1867
GSL-F390 | 280 | 260 | 240 | 5x54 | 50 | 100 | 150 | 12-M12x 30 | 60 | M24x50 | 360 | 570 | 12.36 | 0.380 | 650 | 19.98
GSL-F405 | 305 | 280 | 260 | 5x58 | 50 | 110 |155| 12-M12x30 | 60 | M24x50 | 390 | 580 | 16.09 | 0.480 | 785 | 23.2
GSL-F440 | 336 | 306 | 276 | 6x54 | 50 | 115|155| 12-M16x 40 | 65 | M24x50 | 420 | 650 | 20.23 | 0650 | 836 | 26.67
GSL-F475 | 365 | 330 | 300 | 6x58 | 50 |115|155|12-M16x 40| 70 | M36x70 | 460 | 684 | 29.11 | 0840 | 1032 | 29.84
GSL-F510 | 390 | 345 | 315 | 6x62 | 50 | 130|170| 12-M16x 40| 80 | M36x70 | 500 | 770 | 49.78 | 1.200 | 1531 | 37.01
GSL-F550 | 400 | 370 | 320 | 6x64 | 50 | 130|170| 12-M16x 40| 85 | M36x70 | 520 | 800 | 58.12 | 1.480 | 1537 | 39.15
GSL-F580 | 405 | 370 | 320 | 6x66 | 50 | 135|175| 12-M16x 40| 90 | M42x80 | 540 | 850 | 74.39 | 1.730 | 1769 | 41.04
GSL-F610 | 455 | 420 | 370 | 8x54 | 50 | 160 | 210| 12-M20x 50 | 100 | M42x80 | 600 | 940 | 11591 | 2.250 | 2492 | 48.34
GSL-F660 | 485 | 440 | 400 | 8 x58 | 60 | 180|230 | 12-M20x 50 | 100 | M42x80 | 650 | 990 | 173.04 | 2920 | 3178 | 53.65
GSL-F710 | 530 | 475 | 430 |10x50| 60 | 190 | 240 | 12-M20x 50 | 110 | M42x80 | 700 | 1070 | 232.71 | 3.850 | 3693 | 61.18
GSL-F760 | 570 | 515 | 470 [10x54 | 60 | 200|250 | 12-M20x 50 | 120 | M42x80 | 750 | 1150 | 331.54 | 5150 | 4592 | 71.27

1 Lmin A BR B =R R R RIS R K E R,

IRBEERERKERTURBHEEFARERASZERE, B@M=Lmin,
2 FPHRENEHRERZLMn(FAESHMER)ITEEME,
7E3: BEAHES 24K AL min+(S+20),




Products Series /& 5 KA S5 ‘

Engineering Data

S B RT HY AR E AR

B SN

B R

o [B) i ST

wHEh R B
S E R
BRARTREAERCRESME, HADETSRAREARAREKR,
We can manufacture as per customer's request. For further questions, please contact us.

()



The Selection 3k H Ll

of Gear Couplings

X B RARIBIB/T 8854.2-2001#Rr%, NG Il CLEFIRHE

IR RSB IR B AR ) AT . W T HE LA™
mAIERE, BEMNIBEIAIIAIENE.

— ki, BERRKHEREERNERATUT=1TTHE

AR -
158 R A%
XS SR E B E . TeSTneeeeeeeeees (1)
()
Te —it &S, N-m;
Tn —AFRESE, N-m (KNRI1ER) ;

11T EEETe —ARXQ@). B). @KF

The description provided below is limited to the
selection of GIICL standard gear couplings as per
Standard JB/ZQ 4381-91 and their derivative structural
designs. For other types, please consult our Engineering
Department.

Generally, gear couplings are selected according to the
following information:

1. Strength

Strength of gear coupling must satisfy:)Tc<Tn------+-- (1)
Where
Tc —Calculated torque, N - m;

Tn —Nominal Torque, N - m ( Referto Table 1) ;
1.1Calculated torque Tc —Acquired from

To= K1 ©2) formula(@). (3). (4) below:
Ki Te= ﬁ ............... (2)
b K1
_ W (3) Pu
T=9550T, S 3)
R Poo (4)
= T=7020— N T=7000 8 e (4)
K (2) (3) (4) . Where:

T —EREE, N-m; -
Pw — IREIINER, kw;
PH — K&K, hp;
N — TR, r/min; n —Operating speed, r/min;
K — TERRES: L&) K
Ki — #EEBERLY; (WE1)

—Theoretical torque, N+ m;
Pw — Driving power, kw;
PH — Driving power, hp;

— Service factor; (Refer to Table 1)
K1 — Modified service factor; (Refer to Graph 1)

1.1 154E S IE R EK1, HE1 &8 Modified service factor K1 (Refer to Graph 1)

1.
0 R Kn= % ............... (5)
0.9 —_— |
A 0 =5'
08 e 55 | w(s)m.
: — | \&i Kn-- #ERRE;
0.7 Aa=on | [Nl —- AR, /min(MFRI1HFES).
- ~I—[ Aol EFMA « A THRTEHRMBAH
| ~ T dodp | &R, AREERARRRERE S
Ki 0.5 <as (BAMH);
\SO, H
\QQ\ \
0.4 e =6 Where:
03 \ dq 5 ™~ Kn-- Speed factor;

' 70 [n]-- Permissible speed, rpom (Refer to Table 1)
0.2 A o in the Graph is the maximum possible
0.1 deflection angle, which is determined by actual

' application or the maximum angle of 1.5°

01 02 03 04 05 06 07 08 09 10
Kn

Bl IR IE REK
Graph 1 Modified Service Factor




The Selection iz

of Gear Couplings

1.1.2 TER R REKM R IBERHES M SEBR TR ( BBk ) , SMBR1TE,
Service factor K is determined by the load sustained by the coupling in actual application (Refer to Table 1)

TEMAR Equipment TERR Z#i(Service Factor)K
BIREE Excavating equipment 1.4-20
R . BAREE Mining, gravel equipment 16-2.24
I EE Chemical equipment 1.25-1.8
xR & Conveying equipment 125-1.8
FX. BRIEE Blast, ventilation equipment 1.25-1.5
KBRS Generators and converters 1.4-224
B R BRI TI®%  Rubber and plastic processing equipment 16-1.8
A& Lumber processing equipment 14-1.8
TSR & Steel-making equipment 1.4-2.0
EEIRE Lifting equipment 1.25-1.6
EEMITEE Metal processing equipment 16-1.8
HE. MEERE Grinding, crushing equipment 2.0
B0 T Food processing equipment 125-1.8
LR, Paper mills 1.6-2.0
ESIHLAE Presses 1.8-25
RE Pumps 1.25-2.0
L LA Textile machinery 1.6
R4 Compressors 1.6-2.0
LR E Rolling equipment 1.4-20

2. BREMSS A TIES 3N, WAAERHE
n</[n]
n<0.75 nk
5n=1.35nk
A
nk — BXMsR1BNIRSREER, r/min;
2.1 nkBIitE %
2.1.1 TP EHEECHRE, nkiz=(6)ITE :

D .
nk =1.2x 10" rfmin; «oooe (6)

ENOLE
D — SPIHER, mm;
A — FERSMEHE G R EMIEE, mm;

212 FHHERENEMEE, nkiZXOtE:

D°+d’ .
nk =1.2x10° Y r/ming e (7
A

R(7)H.
D — FaEERIIME, mm;
d — FEEENREZE, mm;

2. Speed of couplings n, which must satisfy:
n<[n]
n<0.75 nk

n=1.35nk
or

Where:
nk — Order 1 critical speed of coupling, rom
2.1 Calculation of nk
2.1.1 For floating shaft, nk is calculated using formula (6)

D .
nk =1.2x10°—5 rfmin; oo (6)

Where.
D — Diameter of floating shaft, mm
A — The distance between the mid points of tooth
profiles, mm;
2.1.2 For couplings with spacer, nk is calculated using formula (7)
D’+d’
nk =1.2x10° e
Where.
D — Outer diameter of spacer, mm;
d — Inner diameter of spacer, mm;




3. FiHMKRE:

Eximes TERY, RAHBMENEMERZET K, FHHE
AIMEE A « B IFAE, BHSRNRIMNENRMTHES
E A B RPN T35 i AR IR, X2t B ihEs i = AR
BEz—. FFNFEEEN—E ERERKMEE SRS
BJIXR, WEHITEERNREAA o, HFHE: Aas
15° (#EHA), Aa<5® (=#H) .,

Installation #2354k
and Maintenance

—. Ef B RIEKFHIXE:

B IR REE N — AR R R e KERE,
BEIEREM N, HIEFwHc, REAIZRIEHBRIE
BERADF RO OE—FEL L TUERRLA
et (Efuss) MERHMYAE (E) TEXRS/NLRIR
Z, WA RENZIIRT.

Z. RFRBRFRIER BHMKRETHEER:

1. BB R E R NI B AEPRINFI B EEB IS £ B,
5l4nEsso EP, Mobil Temp 78. Btk % A91% 35858 mAhk
€%, LImEhEREEHEETRANIATEMUTRN
P, BEIENE. FTRXBFHIEARER; FRRE
SHEEAR REFHNABREFERZITERETHT
EEMeE. MEETR, hingE. B5EE. BEERAWR
ZKEE, BERENBERFBHA —THFAIF.

2. SMEHERERME L, MARNEEERIERZE ),
BEEZBETSRBEHRK,; EEEE ( Q584
£48.8% ) NITENESETR:

B | ITEAENmM) | | BRI | ITEHEN.m)
M8 18 M18 220
M10 36 M22 400
M12 65 M24 520
M16 150

~

When the coupling and the connected equipment has too

3. Calculation of Interference::

much angular misalignment and the angle offset A «
exceeds the permissible deflection angle, the interference of
geared sleeves and hubs with other components may cause
damages on the gear couplings. This is a major cause of
failure on gear couplings. Therefore, it is important to find out
the maximum angle misalignment A a according to the
geometric space between the gear coupling and its
connected components, and make sure: A o« <1.5° ( with

load ) , and A o <5° (without load ) o

I. Proper alignment is the basis to insure longer service life
of gear couplings.
Gear couplings are designed to accommodate certain
deflection angle and length compensation. However,
the less the deflection angle of the gear coupling, the
longer its service life. Therefore it is important to keep
the centerlines of the sleeve and hub of the coupling in
alignment as accurate as possible. Laser alignment
locators or other aligning tools may be used to minimize
the misalignment during installation.

. Good lubrication is the key to insure longer service life
of gear couplings.

.Before installation, gear couplings should be
adequately lubricated using lithium-based grease
containing EP additive, such as Esso EP, Mobil Temp
78. Please note that different types of greases should
not be mixed together. Even if greases of the same
type but by different producers should be inspected
to make sure that they match in properties. For special
applications, such as high speed, ultra—high
temperature, extreme dampness or water, please
contact us for technical consultation.

—_

2. Put the gear sleeves on the gear hubs. Apply sealing
glue evenly onto the flange faces before bolting the
center flanges. Refer to the table below for the tightening
torques of the bolts (reamed bolts, Grade 8.8)

Bolt Sizes Tighte(n,i\lr?n ;orque Bolt Sizes Tighte(n’iln.?n 1)'orque
M8 18 M18 220
M10 36 M22 400
M12 65 M24 520
M16 150




Installation 3 54th"

and Maintenance

3. Bist R E TG, MBI hM T HEIEEiE B 3. After the coupling is installed, fully grease the
R BB AN SRS S o 1E . coupling through the grease nipples until the grease

oozes out through the sealing rings.

4, Bt R =N A ERNMES A E#HRIEEE; 25 4. The gear couplings should be thoroughly cleaned and
EGEEBERPRTEKEN BER S AERIT have the grease replaced after three months in use.
14, SRE O HEEHMEREBIEEE— X, £ Subsequent cleaning and greasing can be extended
KRR, to every 6 months, but by no means over one year.

Grease in the gear couplings should be checked at
least once a month and regrease if necessary.

EHMZENRRIFNERS2RIEBEMERER Proper installation and good lubrication are factors of vital
EITHIRTIR S . MRS NE AT (BEEHEE(E importance for optimal operations of gear couplings. For
AR , ZnAEES REEAE RN, detailed instructions, please refer to our "Gear Coupling

Application Manual", which is supplied with the products in
the packaging boxes.

WARNING: ROTATING DRIVESHAFTS
» Rotating auxiliary drive shafts are dangerous. You can snag clothes, skin, hair, hands,
etc. This can cause serious injury or death.
® Do not go under the equipment when running.
* Do not work on or near an exposed shaft while it is running.
e Shut off equipment and lock out before working on drive shaft or driven equipment
e Exposed rotating drive shafts must be guarded.




~ Sales X hUEH MR %5 DL

Service

NARHE

ik, STABLEHMAREARAEKSSS
mB%s: 214161

BiE: 0510-8559 0778

f£H: 0510-8559 8853

Virad

B F{=%5. office@bcwxz.com

£ K I

ik EBXIERE19-16-03
BiE. 13921166677

f£H: 0510-8559 8853

B F{=54: lcy120@hotmail.com

% 3t

ik, SEEHEEX ERE
BiE: 13803152995

f£H: 010-65738240

B F{=58: wxz—bj@sina.com

x &t

ik, TTRILHATEREX1867-3-2
BiE. 13342102626

f£H: 0419-5308853

B Y= . wxzliugiang@sina.com

Overseas Offices

Wuxi North America

1535 Hillyer Robinson Parkway
Anniston, AL 36207

Phone: 1-256-669-4140

Fax: 1-866-593-8319

Email: jlittle@wuxi—na.com
Website: www.wuxi—na.com/

E.P.R.s.rl

Via Don Angelo Questa, 41
25079 Vobarno (Brescia)
Tel: 0365 61181 (r.a.)

Fax: 0365 599191

Email: info@epr.it

Website: http://epr.it

Headquarters:

88 Renmin Road West,Hudai Wuxi,China 214161
Tel: (0510)8559 0778

Fax: (0510)8559 8853

http://www.bcwxz.com

E-mail: office@bcwxz.com

m A —EB

i, SEUHERERES-502%
HiE. 13705552496

f£3H. 0555-8320181

mE=%

ik, ST ELFHFE2-405%
BiE. 13705553062

f£H. 0555-2331733

mB=3

ik, HEERATEUELSRE E4-505
BiE. 13928940248

f£H. 0734-2573365
Email:wgh669@sina.com

Protrac Progressive Sdn Bhd

119 Jalan Pendamar 27/90

Taman Alam Megah

40400 Shah Alam

Selangor Darul Ehsan

West Malaysia

Tel: (603) 5191 9800 (Hunting Line)
(603) 5191 9655 (Direct Line)

Fax: (603) 5191 7831

Email: protrac1@gmail.com

Website: www.protrac.com.my




BHLLI$H

P

[/
@47
Y

N

pasutEElbre: 9

1A FE S R2BE S K IRITE IhTE10
PSR ZE RIS BY O 5k # SR 2615 5 A 21
B AR IO TE,

) HPTEEERGESR, LA
EMBRLERBMERAR
SHPTEEARLSRH ANAE
ERERR,

4. H312EEEME O L L Z BT
BIRETAR
5.MREIBE T EXE, BITHIETHRK
TBR,

EHFRHA

KT AR ARAR
it THETAREARAKESSS
HB%5 . 214161

BiE: 0510-8559 0778

f£HE. 0510 - 8559 8853

E-mail; office@bcwxz.com
http://www.bcwxz.com
http://www.wuxidriveshafts.com

Wauxi Driveshafts Co., Ltd.

Add: 88 West Renmin Road,Hudai Wuxi,Jiangsu Province
Postal Code: 214161

Tel: 86(510)8559-0778

Fax; 86(510)8559-8853

E-mail; office@bcwxz.com

http://www.bcwxz.com

http://www.wuxidriveshafts.com





